1. Lo u=4d9 3 &4 &2 A2?

@ 12 ¢ Zrh

@ " 4ol

® A= 3 ol

@ 4x4x4E UeErd Zlojt,

® 3¢ mry 2k,



@ 17

® 18



3. 264 9 AQIFE HEEA A8 AL?

@® 2, 3, 11 @ 1,2 3,11 ® 22, 11

@ 23, 3, 11 ® 2,3, 5, 11



4. 18 9 5] Age?

® 274 @ 37 @ 57 @ 671 ® 87l



=5 29 AR

=i

=

@ 5 ® 13 @ 24 ® 36

® 3



ol

o|J
o8

ol
Nfo

ojn

@ 12,30,72 o Hhgt5L 6 o,

@ 18,32,84 2]
® 24,52,108 o] g 4 o]t

@ 16,48,120 O] HF e 8 olrh

® 9,36,96 o] 2o}



© gl 345
2ol 242 A4 Apoleke] A
Ael7t ek

3
@ AHligke]l E7H 4 Ao

T
<k
oW

r

<+
ol
(N
)

B!
9|
NI

T

® a, b o] Adigho]

Hr} o o] © At

1

G
(38
ol

-

olp



® +5



@]
L]

(=) +(=4)+(+5)+(+2)
{(=7)+(=)}+(+5)+(+2)

-1+ © ]
=L@ ]

T}

(+5)+(-4)+(-7)+(+2)

s A

9.

—

:.&l
et
o
E
i~

ol

w



10. o= % -1t ot

@ —12001

@ —(—12001)

22
@ (~1)2009
G —(~1)2000

—(~1)2008



g Ao 2 vhe A U AS n2 w9

>~

2}

fr

A~
=

oo
o
2|

11. o

Sl

@ 300 Y] HAE a 7

@ x 2R WA 2 A4S A
(x-2y) &

® 10km & A% g km 9] &

R

Eds
@ 5=t a% A AFE 50g ol 5] QU

a
2
® 4ol Azlel %37k x, ) A2l A7}y A 5 Ao

A = xy

L age] of —



12. o 27 3 SR Aol 2L BE DY

(w11

H7]

@D —4xt, x4 © ab,abc
24

®© R ® 3z,-a

0.6 200 006 ®oe 066



]

13. o= 27| F &7t F45] B2 Ae BF A2W?

H7]
@ 3x+1=4x O 3y+1=1
® -y+1l=x-2 ® 4(2-x)=8-4x
@ 2(x-1)=2x-2
ONQ) ® © ® 6,06

ONCNG) ® 66,06



@
® ?+3x=1

® 3x+5=8-x




@x:§
5

o O

O x=-2

X =

@ x=1



